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1 kOB TEFELHEZNESEL XD,

@D 1km= m @ 1dL= L
@ lha= a @ 1lcm= m
® 1lke= g ® 1mL= L

2 WROBZRTHMZOCHEEL X D,

O AIAVI—DFEE 634
@ HAROHEH ¥13875
@ HWEOFIOE 200
@ =7V ra—ADES 42.195
® #HREOES 6
® 1HELIOOKDES 10




*

| Frivss—t@ =34 FEH A B
P F 48 &
= N K4
6ﬂs rE@iﬁLJ 12 F4
1 OO TUIELBEENL=FEL X 9,
D 1kn= 1000 ® 1dL= _5;_
@ lha= 100 @ 1em= |1
100
® lke= 1000 ©® ImL=| !
1000
2 WOEEZFRTHEMNMZOWCNHESEL X I,
O AHAVI—DOFEE 6 34 .
©@ HAOmHHE ¥1387 .
@ HEOFEHDOE 200 mL
@ <=7V a—RADOEX 42.195 km
® #HEEDES 6 -
® 1MHE1OKDEX 10




*

" FrLoUI—FQ P¥T $EH F = =]
B I F #A &
= o K%
64 EDHH) -
1 WObTITEDIEZEZ»PEEL X9,
D 1.3ke= g ®@ 500a = ha
@ 2.8m= cif @ 2.5m= e
® 1.5L= cil ® 4kL= m
@ 1.2t= ke 3100m= km
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@D 1.3ke= 1300 g ®@ 500a = 5 ha
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